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1.1-"_» are also called gamma rays.

-g,{f(‘[d{'//lﬂ:([

positrons  szJ¢ (D) protons by (C) electrons ./‘,/;_6, (B)
2 - To make burglar alarm, we use LU S e - & v ptE
NOT gate (D) OR gate (C) AND gate (B) gate (A)
3.  An electric current in conductors is due to the flow of e >3 d/il/. L J/”ﬁl s J}GJ/
negative ions )",Tr‘:g (B) positive ions 1% (A)
free electrons '):/'gl LT (D) charges 7.k ;’:)g (C)
4 - The refractive index of water is e L/,‘c! )f// ¥ dg
133 (D) 1.39 (C) 2.33 (A)
5- The speed of sound in iron at 25°Cis . L ST 425°C Ut wAT
1531mS™" (D) 3980mS™' (C) 5950 mS™' (A)
6 - When water waves enter the region of shallow water & s 1/4{/;'; g dL 2
their wave length. B R?Q‘J:_',
remains same ‘L(:@ g (B) increases < J(g sl (A)
none of these u’/d)/c, Sl | decreases < Glp ” { (C)
7 - Which of the following is a method of energy transfgr? e bt Jis-1 éf;/d""d/l.u)’ ufc, J;'.w'z

all of these (U7, (D)  wave motiong> U #s

8. The loudness of a sound is most closely relateg to
its

amplitude 3 £ (D)

) radiation US4k (B)

conduction JCU/
Jm 7ol K(f:)'jﬂ Ji—'ﬂ/

—c by

9. A converging mirror with a radius of 20 £m creates a real <% 30 . it KU 20 A €, Lol L

photons S (A /

12 oli e §ES LS LS s ol e S s f e LS S ooy S b
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|

-6

-9

- 10

-12

image 30 cm from the mirror. The objgct distance wili be Ky el K()'_g. bl &1 Ly dol £
+20cm (D) +7.5cm (B) +5.0cm (A)

10 - An object gains excess negative Lol yi‘gug/' et g e Lf{ (?z_,/» f()vfl
rubbed against another object, Avhich is e ()"/» .f::(‘a_ bl 7
negatively charged el £ /9 e (B) neutral J¢ (A)
all of these U, (D) positively charged e/l ¢ ¥ %7y (C)

11- If the current in a wire, which is placed perpendicular to oS « Ui G d‘jbr{“uf 1Y A
a magnetic field increases, the magnetic force on the wire J/) V@th L/Jf{ Iy y b by f/uﬁ'f
decreases Jﬂ { (B) increases J&‘/. (A)
will be zero Jn/’ (D) remains the same L,(ﬂ uﬁuy“ (C)
12- A CD can store about MB computer data. e chfzr‘/ Cisd VB L/uicD
610 (D) 620 (C) 680 (B) 600 (A)
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PHYSICS Paper: II (oUW T, JEGLLE) 222 11 g4
Time: 1:45 Hours (Group:I) SUBJECTIVE - dwi (57 1y)

Marks: 48

Note: Section I is compulsory. Attempt any TWO (2)

questions from Section II.

2 - Write short answers to any FIVE (5) questions.

i- Whatis the importance of circuit diagram and electric symbols?

ii - Define resistance and write down its unit.

1i- State Joule's law and write down its formula.
iv - On which principle walk through metal detectors work?
v - Whatis the shape of magnetic field produced by a cofi?
vl -
vii - What is meant by nuclear transmutation?
viii -  Write down general equation of gamma decay.
3 - Write short answers to any FIVE (5) questions.
i - Define loudness. On which factors does the loudness
of sound depend?
Why ultrasound is useful in medical field?
iti-  What is difference between data and information?
iv-  What is the difference between RAM and ROM memories?
v - Define Coulomb's law. Write down its formula.
Vi -
vii - Define pitch and quality of sound.

wii- Define capacitance and write down its unit.

4 - Write short answers to any FIVE (5) questions,

i - Find the time period and frequency of a simple péndulum

propagation?
iii - Make a diagram for a refraction of lighf through glass block
and label it.
iv - What is the resolving power of an i/strument?

v - What is meant by thermionic emission?

vi- Differentiate between digital and analogue electronics.
vii - Draw the symbol diagrams of AND gate and NAND gate.
viii- A wave moves on a slinky with frequency of 4 Hz

and wavelength of 0.4 m. What is the speed of wave?

(2‘,—1 JJ})
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Section - I Jil >

(2x5=10) -Z F bz L =iy (5)@L¢d[ 9

How do researchers check the action of fertilizers in plants?

(2x5=10) - sFelizFL iy (5) &

Discuss the application of static electricity with one example.

JP

5 1.45 12

4837
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Section - I (1)

Note: Attempt any TWO (2) questions from Section I1. _ﬂcbfﬁd:aUlf (2)wce ch:. uﬁru.iv :
5 - (a) What is meant by e.m.f ? Explain the method to 1+3 (4) . L gf&t Sui R P Ve wdig (i)
measure e.m.f with diagram. ' _ia (ljglj 2oy JEL)
(b) A step-up transformer has a turn ratio of 1:100. (5) 1900 = Use Ur a6 e (L)
An alternating supply of 20 V is connected across L Umw el 20V /ijd/’l/? //l -
the primary coil. What is the secondary voltage ( V)? _.’:f.'_fr:“’ (Vg )é}» GoRE T b s iz Al
g - (a) Explain the transmission of light signals through 1+3 (4) SRS HEL 205 L 546 ST (L)
optical fibres with diagram. _i::._ A J(lﬁ_b‘ ooy J
(b) A normal conversation involves sound intensities (5) 3PS (}’“I IX10&wm? U yﬁ"irl; fased
of about 3 X107 wm™ What is the decibel level UACTIEw UL St ¥ u"7 Jur JE
for this intensity? What is the intensity of the sound ‘.'Lfn g 6’"7 giib 100 dB
for 100 dB?
7 - (a) Explain with activity, "waves as carrier of energy". 2+2(4) A_/J’:‘j U e Lo LS G s (L)

_Zf:/ Zfl) = d,f/ "t sk
(b) An object 4 cm high is placed at a distance of 12 ¢cm (5) d/gf/f Jgr'(.; G Jl{':f d/()\.ﬁ ()

from a convex lens of focal length 8 cm. Calculate the £ b CE512 2 HKEE8 J@gff
position and size of the image. Aiso state the nature (f! 7 ér}” =l u:'fj,;‘ J (-/;! -< 17
of the image. , bt L e d
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. AR c//)c,ufu;ﬂ)dfc,) ev Ll dlr’//dgd'i -u"ic.,)Du‘C B«A =i j/béd'r/ I
-(ﬂjr‘jbﬁyl:’. oJ:CZQﬁo/ﬂJL,///uKLL.///u.v/b o)LJQ».ﬂ Z_ /QJL/L :(o/'),}h'?ulb

1s b=’ ub»&u“'/l(j/ub’£235 g Kl 11

During the fission reaction of 1 kg of uranium - 235 ® o

amount of energy is released.

3.7x10" J (D) 47x10" T (©)
2 . To make burglar alarm, we use
NOT gate. (D) OR gate (C)

volts across 6 ohm resistor

3- There will be
when 3 ampere curtent passes through it.
0.5 (D) 18 (C)
4. The speed of light in water is approximately |
43x10° mS™' (D) 3.3x10°mS™" (©)
5. The intensity level of train siren is____ (decibel) dB.
120 (D)~ 130 (©)
6 - In motion of a simple pendulum restoring force is
provided by
tension in the string & U~ L (B)
inertia >/ (D)
7. In avacuum all electromagnetic waves have the
same ,
wavelength p’%! amplitude 3+ & (c
8. The loudness of a sound is most closely related toits
amplitude }% u‘,’fl (D) wavelength n?f%"/
9. The critical angle of glass is /
46° (D) a4 (C)
10 - The leaves of charged electroscope cojla se if.we
touch its disk with .
lead 4 (D) plastic/ &4 (C)
11- The study of magnetic effects of curreht is called
electromagnetism | r/‘ﬁfal (B)
electricjty U)/Ql (D)
12 -

Graham Bell made a simple telephope in

1886

1896 (D) (©)
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5.7x10" T (8 6.7x10" I (A)
g LS e &5k

AND gate (B) NAND gate (A)
PP Py L
L ukL
2 (A

; L,)T/D/JU%Jude
1.3x10°mS™ " (A)

150 (A)
¢_y« .J__/Jif s 2x 0ol
sl

air resistance w7l Jln (A)

force of gravity .:/}Ju/'; (@)
L s B9 0 G o

i

frequency ok} (B)
 Meukuinn s
period Az (B) frequency GEP A
e Safy &

42° +B) 40°

SE O & APt g U =
Kebnf

wood 0'}6. (A)

Jbr feth YL S
magnetism (7'){’ (A)
electric capacity ‘,ﬁ{f}gl (C)
et
1876 (B)

speed Ai¥ (A)

e (7%

(A)

rubber %2 (B)
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Vote: Section I is compulsory. Attempt any TWO (2) .

questions from Section II.

GUT-G222

(2) we (;:(4:.. a1 o ‘z;_'dwdi’lﬂb ks
ez ey

Section - I ' JJl .

2 - Write short answers to any FIVE (5) questions.
i- Define kilowatt-hour, also write down formula to find

energy in kilowatt-hour.

- In order to measure curent in a circuit why ammeter is

always connected in ‘series?

iii- Draw a labelled diagram to illustrate the structure of

transformer.
iv- Define Lenz's law. ;
v - Define Fission reaction and write Jown its equation.
vi-  Write down the alpha decay pfocess for P az ™ ,
vii- Whatis difference between atomic number and atomic
viii - How many watt-hours are tﬁere in 1000 Joules?

3 - Write short answers to any FIVE (5) questions.

Describe the use of uttrasound for thyrold glands.

(2x6=10) -ZE fevz ALy (5) &) e 0 -2
JJ/‘J/J' ’UK/" iJ}’J/J‘ 'J!K

Al K S

2 S A A 2 e S S S

e telzud e & by

LS O est il o S/ H

-1

o Sus LA

- - e s § ,l,gf__.//"'Jui-rl(j/u) -V
_:J‘ﬁ’;{ (alpiw decay) L Wi é:fPal:;' - Vi
mass? - W“% ) Wl S al A - vii
h v& LsnTat &t J2 1000 - viii
@x6=10) L Pz Ll iy 5) &L e O3

JEE Yl ST s &5 sz
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ii - What is the role of compfesstons and rarefactionis in Ya's fws/y ,,l.;d/;f.é;"yw J}g; A5 i
the propagation of sound waves? e v
iii- The capacitance of a parallel plate capacitor is 100 puF . -6 100 pF guitugS J/""/_J Sz L i
If the potential difference between the plates is 50 volts, v _,, 50 Jz/,‘ K(}"{g s ,j‘:%/i
find the quantity of charge stored on each plate. e ryL‘”J:M il bl b Oy Lk
iv = Defme quality and pitch of sound. -’fér;i//.}gffufv ST E u'Jlf Ziv
v- How the sound waves are changed into electrical gignals, e blo L[J,v“d:uﬁ f'clﬁj-?l Sogs ks -y
and how are these transmitted? / e JK c“f ubﬂlx‘ J Yol
vi- Whatis sound and how is it produced? ,-! . e Jn L cjf, sle YiiL -
" \ / - 5 ’ ‘
vii- What is a parallel la e capacitor? Draw its dlagram ~&b ;f/ J U e l[ '/:f Lk J’l/_' -vii
viii- What are secondafy S\torage devices? Give' an example. s Je LSy L Ay (’J;r Sk - viii

4 - Write short answers t(}) any FIVE (5) q_ti;estions.

What are mechanical waves? Write down an example.

ii - -A wave moves on a slinky with frequency of 4 Hz and
wavelength of 0.4 m. What is the speed of wave?

iii - Define power of lens also write down its formula.

iv- What Is the difference between real and virtual image?

v-

(2130

Name two factors which can enhance thermionic emission.

@2x6=10) -Z ez F Loty 5) b -4
_& Je gisur i N2
0.4 m %y 1 4 Hz TSy bn S vy O
W N gl IS

S S kU g S Sy S A
fe. IV s £ & J;;u s
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vi- Define analogue quantities and give exampie. SE st ZE S s Sk v
~vii- Drawa symbblic diagram for NAND gate and also write down J-’*'i,} KJL;I b rlf W(f U J J NAND - vii
- its truth table. ' el ¢t
viii -  Differentiate between longitudinal and transverse waves. -2 5 e Cigs b J;‘z’r@ - viii

Section - I (4 D

Note: Attempt any TWO (2) questions from Section IL. eyl wi (2) ne (e IR R OTS

5 = (a) Explain the use of electromagnet in relay with diagram. 1+3(4) S £ qka:}?l Un (relay) L, (L) - 5

B i Jrlfy;' ol

(b) Two resistances of 6 KQ and12 KQ are connected - (5) & j Sz P12 KQ o6 KQ (L)
in parallel. A 6V battery is connected across its ends. 6VIHL iz g L cire
Find the value of the following quantities: = Ju;ﬂﬁ" "b gt S Jgj A d/
ZE

1) Equivalent resistance of the parallel combination.

Y NPT J}V} (i
S e i g (i
~ U'"ltf')‘ J}% \-..5'/’1 L/’J//; (111

ii) ©urrent passing through each of the resistance.

i) Potential difference across each of the resistance.

6 - (3) What is meant by electrostatics? Explain it with 1+3(4) FE A e B Teslp Ve JQ‘T (L - 6
ol Ul e J S
) 2KHz oy 29l S S os i bl T
& dob ¥ 1.5 km el Lyt KUF35
ot s D W5 S

- example of electrostatic air cleaner.
(b) A sound wave has frequency of 2 KHz and wavelength

35 ecm. How long will-it take to travel 1.5 km.

7 - (a) Write down different features of compound microstope. * 2+2(4) *é,/f" (features)),éh,al:"’& ._;,,ﬁ,)f’ujlgf (i g

rlfy,“ < s (magnification) u’»“%? Jut

Determine its magnification through ray diagram,

. L E sl

(b) A wooden bar vibrating-into the water surfacé in a ripple (6) &x Z_/-.'.:_,ﬂ’u 4 deg 94U J,J o (O
tank has a frequency of 12 Hz. The Fésultil;lg wave has & g 12Hz e J@)‘i{l nyd
a wavelength of 3 cm. What is the speed,_-'é)f the wave? J e /‘{J“' 3 .&‘%’: J 4 s y.' La
N WUn ke
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